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Instructions for the Candidates
. Write your Roll Number in the space provided on the top of this page.
. This paper consists of fifty (50) multiple choice type of questions. All questions are compulsory.

. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested to open the
booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker seal and do not accept an open booklet.

(it) Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty booklets
due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced immediately

by a correct booklet from the invigilator within the period of 5 minutes. Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
Number should be entered on this Test Booklet.

. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on the correct
response against each item.

Example : (A5 @ C© (@ where (B) is the correct response.

. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — | only. If you mark your response at any
place other than in the oval in the OMR Answer Sheet, it will not be evaluated.
. Rough Work is to be done in the end of this booklet.

- If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space
allotted for the relevant entries, which may disclose your identity, or use abusive language or employ any other unfair means, such as
change of response by scratching or using white fluid, you will render yourself liable to disqualification.

. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry it
with you outside the Examination Hall. You are however, allowed to carry original question booklet and duplicate copy of OMR Answer
Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking.

- In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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- PAPER -1

Identify which of the following steps are

carried out for constant comparison in

grounded theory research ?

(A) Data collection, note taking, coding
and memoing

(B) Data collection, data reduction,
data display, conclusion drawing
and verification

(C) Data collection, axial coding,
categorization and narrative
description

(D) Data collection, contrasting,
comparing and generating themes
and patterns

. Which of the following is common in all

true experimental and Quasi experimental
designs ?

(A) Control group

(B) Randomization

(C) Pre-testing and post-testing

(D) Pre-testing

. Find the wrong term in the letter-number

series given below.

G4T, J10R, M20P, P43N, S90L
(A) G4AT

(B) JIOR

(C) M20P

(D) P43N

Paper - |

1. 0t Realed ADUAM AUetel Jetelt WS
AAniell gt wole ActMl A B & ),

(A) 32l s, ol Aale, ARt wa WAL

(B) 32t e, 32t Rssalq, 321 ealq,
Qe sltcie] ua usgll

(C) 321 e, AGAA 81321, a(ls:el
Ul sl aglet

(D) 32t e, @AteUA, detel,
ol uA Uzeloj Ut

2, WA wABs ool A Uil YA
Alwell W2 vl 53 Ao B ?
(A) RRIAA xu
(B) weD4ls0
(C) yd s0&l UA Grtz 508\
(D) yd s

3. A el Q2R el ARMML WA

Yect A,
GA4T, J10R, M20P, P43N, S90L

(A) GAT
(B) J10R
(C) M20P
(D) P43N
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4.

A cube whose each corner is named
asA,B,C,D, F, GandH is segmented
into 27 equal tiny cubes. Before dividing
the cube, each face of its varnished with
different colours. How many tiny cubes
will be formed having more than one
colour ?

(A) 64
(B) 20
(C) 55
(D) 53

. Which of the following is not true in

relation to ‘SWAYAM’ ?

(A) Itis Sanskrit acronym that stands for
‘Study Webs of Active-Learning for
Young Aspiring Minds’

(B) ltis an Indian Massive Open Online
Course (MOOC) platform

(C) It has been developed jointly by
MHRD (now MoE) and UGC with the
help of Infosys

(D) 1t is under ‘Digital India’ to give a
coordinated stage and free entry to
web courses covering all advance
education and skill sector courses

Paper - |

A

4. As uel ¥ Vol €35 wRL Aol ), §l, As,

% U AU Ay AR B, Aal 27 Utel
ollell 25SLIRAML (QoUMcl sl vyel B,

tolal (Aot 5l UdEL Aol £3s Awdla
oel el 291 Al alolal sl 2 B,

Al Ul ay U HRAA B2ell ool Z5SIA

cellelcllHl suaf ?

(A) 64
(B) 20
(C) 55
(D) 53

. o2 U4l g “raun” (SWAYAM)

olt deelml Wy aell,

(A) U A5 el sdclcloll 5UR B.

4l Au Wy Asdla Al R 2dt
Aaadlol uees’

(B) ut AR 2uet dectitfel xef
ourcla {sw@ B

(C) W MHRD (62 MoE) A UGC &
goflalluell ustudll dur 54 d

(D) wlt‘Qwed Sodlar vidold wa D, Y

ol Slatcllelt vleALMSH Ul Ydiel
@ae e Aot Sllett yae 2 wMeellet

U Y3 wsaudi wa 8
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6. Which of the following are game based
learning platforms ?

a. Kahoot
. Socrative

o

¢. Quizizz
d. e-PG Pathshala
e. Edmodo

(A) e,dandb

(C) a,candd

(B) a,bandc
(D) c,eand a

7. In a certain relationship
M/ N means M is daughter of N
M + N means M is father of N
M — N means M is mother of N
Answer the following question based on

data above.

Inthe pattern F* G/H -1, how is | related
toG?

(A) Mother (B) Sister

(C) Niece (D) No relation

8. Inthe following figure triangle represents

. ‘girls’, square ‘players’ and circle ‘coach’.

Which part of the diagram represents the
girls are player but not coach ?

v Players

(A) P
(C)R
Paper - |

6. oA A4l g el WUR At At
Wil B 7

a. Kahoot

b. Socrative

¢. Quizizz

d. e-PG Pathshala
e. Edmodo

(A) e,dua b

(C) a,cuan d

(B) a,bua ¢
(D) c,eua a

7. Ass ol

M/Nell sl M €lsdl BN{

M + Nell sl M Rt D N il

M—Noll 3l M Htell d Nell

GuRell MR Al dued (1At ysoll
agcllod B,

F*G/H-=1el ctent | 88 dQ Gud
Yol B 7

(A) Wt
(C) e=lly

(B) “dat
(D) 8¢ oy &l

8. oA WA wWglAnl Aa ‘Rsdl2l'e]
yRAR« 53 B, A “ReuslA'q
UR adn - ‘Slug’ YRR st B,
iglaall sl eyt BlsfA el B.
2 Neusdl B et Sl oell 2

\—/,mm

(B) Q
(D) S
DEC-21/00
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9. If a student ask you a question whose

answer is not known to you, then

1. Give this question as a homework
and start teaching.

2. Tellhimthis question will be answered
the next day.

3. Ask him to come later and then send
him to library.

4. After the class you will go to library
and try to find the answer.

5. Appreciate the question and accept
that you don’t have information right
now.

A) 1,2and 4
B) 3,4and 5
C) 2,4and 5
D) 2,3and 5

(
(
(
(

10. Which of the following is most applicable
to split half method of finding reliability ?

(A) It shows the internal consistency of
the test

(B) It shows the internal consistency of
half of the test

(C) It can be used for tests having
both subjective and objective type
questions

(D) It can be used for tests with any
number of items

Paper - |

9. il As [Qaiell ys yp 8, Roll vt
A wasAl otefl, Al

1. usal 9Jestad ddly vuusll wa
@uelelle] 913 uvisl,

2. Aal 5330 ¥ UL YHeA welled M
uldcll slA Ul vas,

3. Aol AlsL UHA GlLE utctc{;cj 58 Ulal
ugl Al Yaetstaaul Miscll €l

4. selU YOl a2l 6lLE AR YReisidAul wall
R ellol el Yol 590,

5. ystell il 90 A wstel ¥
SLEARD M wcliotofl it otell,

(A) 1,2 %R 4
(B) 3,4uA 5
(C) 2,4 4A 5
(D) 2,3uA 5

10. «0A U4l s usioiuell udl uclle &g
Aus w2 Wl aul? Guysd B

(A) A sl uicdRs Alct eold B

(B) BidRs it ustll sy eafa B

(C) ¥ aideiell uA QuaRe wd
udlawiul auga §

(D) AR Azell dvauell st M2
udlagiell Guallol ug uk B
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11.

12.

Match the List— | with List — Il and choose
the correct option given below.

List -1 List-1i

1. National Institute a. Deemed to
of Educational be a University,
Planning and 1964, under
Administration Section 3 of
(NIEPA) UGC Act, 1956

2. Tata Institute of b. A Central

Social Sciences University and
(TISS) An Institution
of National
_ Importance
3. Mahatma Gandhi c¢. A Central
Antarrashtriya University
Hindi established
Vishwavidyalaya by an Act of
(MGAHV) Parliament, Act
No. 3 of 1997
4. Visva-Bharati d. Deemed to
be University,
2006, under
Section 3 of
UGC Act, 1956
1 2 3 4
(A) b a c d
(B) d a c b
(C) b d c a
(D) c b d a

Which ofthe followingis notanindependent
vertical of one umbrella institution i.e.
Higher Education Commission of India
(HECI) as proposed in NEP 2020 ?

(A) National Higher Education Regulatory |

Council (NHERC)
(B) University Education Council (UEC)
(C) General Education Council (GEC)

(D) Higher Education Grants Council
(HEGC)

Paper - |

11.

12.

A
AL -] vl — || Higll A @Qscu
uile 531 ocllol wdE 5.
Al - | 4l =1l
1. Aeld Sadleye  a. Y.l Ase
By Ao 1956 ol
welilol Aes @ouat-s
AsMRP et dletdld, Bas
(NIEPA) YRaidl, 1964
2, 22l R Ye s b, RU
ARad aRu QuQatda
(TISS) UA auélg
Hacctofl e
3. Halet atitll c. 3
w0l Qu-Raa,
Q £ A Rofl WUl
HUEL SLAEL,
Reetat slAEL oi-3
(MGAHV) 1997 4L ¢
4, (Au eurdl d. Rus YR
2006, 3.2
w52, 1956 ol
Asalet-3 vicdld
1 2 3 4
(A) b a c d
(B) d a c b
© b d c a
(D) c b d a
fla Rat Rl NEP 2020 i yadi@d

slatr Arydalat sRaet g SR (HECH)
Ul ol Udlof 52 ues ol ?

(A) AUt slaR Avybaet YA
516l (NHERC)

(B) YR alEl Arydaat s6Ret (UEC)
(C) ¥eRet Arydaiat 516 (GEC)
(D) &R AvYdalet Ao 56 (HEGC)
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14.

15.

Inacertaincode E=P,Z=C, N=0,
K=B,C=Q,A=X,R=H, B=R. How will
BREAK be written in the same code ?

(A) RHPBX (B) RHPXB
(C) RHPXC (D) ROPXB

A and B travels from point P to Q at
17 km/hr and 19 km/hr. respectively. P is
72 km away from Q. B reaches Q first and
returns immediately and meets A at R.
What is the distance between Q and R ?

(A) 10 km (B) 4 km
(C) 15 km (D) 36 km

Match List — | with List — Il and select the
correct option given below.

List - List - Il
(Software) (Application)
1. Mendeley a. Quantitative
data analysis
2. SPSS b. Reference
' manager
3. Turnitin c. Plagiarism
check
4. Nvivo d. Qualitative
data analysis
1 2 3 4
(A) b a c d
(B) d a c b
C) c a b d
(D) ¢ a d b

Paper -1

13.

14.

15.

Us AWssU SlsHl E=P,Z=C,N =0,
K=B,C=Q,A=X,R=H,B=R.

3l f1a BREAK (As) As ¥ Asu
utelldi vuaq,

(A) RHPBX
(C) RHPXC

(B) RHPXB
(D) ROPXB

A uad B ugs 17 B y[A scus
ua 19 3., uld seud yusdl 52 B.P, Q
el 72 B3l g2 B.B, Q WA udct uA D
UA el U US A UR RAHA D A
Q U R g etz § B 7

(A) 10 (.. (B) 4 B,

(C) 15 B4, (D) 36 .,

QA Al Wl — | A wél-11 A
Ao [@Qseud WA wale s,

Al -| A -1
(Rg2dr) (Hel)
1. Mendeley a. ¥wuleis HBcllo
RQeAugl
2. SPSS b. deel yolua
3. Turnitin C. Qsicddl dun

4, Nvivo d. Juuens HRdleg
@QeAnat

1 2 3 4
(A) b a c d
(B) d a c b
C) ¢ a b d
(D) ¢ a d b

DEC-21/00




16. Which of the following statement/s is/are
correct ?

a. For the sequence of integers
represented in binary 00111, 01001,
01011, P.... the next integer P would
be represented as 011101.

b. Abyte is a binary number consisting
of exactly 8 bits.

Choose the correct option :
(A) aonly

(B) bonly

(C) bothaandb

(D) neither a nor b

17. Study the chart and answer the question,
the Pie chart given here represents the
domestic expenditure of a family in percent.
If the total monthly income of the family is
Rs. 65,660/-, the annual savings in the form
of PF would be (in nearest Rs.)

EXPENDITURE OF FAMILY

Medical

House Rent
18%

(A) 86830
(C) 96830

Paper - |

(B) 86155
(D) 76830

- 16. A2 24 gj/s2l Qe AY/AU D ?

a. Wl et olasdl yals uagsumi
00111, 01001, 01011, P....

UdUR WLINAA P 011101 64

b. cugfe A s clAetd] sivd2 B, BML
QAR AR 2 cuge slu .

Ay @seu wde 53
(A) s5ct a
(B) §5¢t b

(C) auA beid
(D) auabmell A ugl A&k

17. WA veAH 5 ustel wratot w0, AU

we W As Faotell ot WA g2a B,
A géuell sa WRAs wasRs. 55,660/-
B A awlls wud PF ot 3un decll

U, ( owsell 1)

EXPENDITURE OF FAMILY

5ot QU§
18%

(A) 86830 ~ (B) 86155
(C) 96830 (D) 76830
DEC-21/00
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18.

19.

Choose the graph that best fits with
this statement : “This car has excellent
acceleration”.

A
(A)
>
!
(B) _/
(C)
(D)
'

A group of students of your class face
problem in learning, you want to identify
the deficiencies and difficulties of the
learner, which evaluation would you
choose ?

(A) Formative evaluation
(B) Summative evaluation
(C) Diagnostic evaluation

(D) Qualitative evaluation

Paper - |

10

18. * vl 5141 Geidl YA B A AAest WA

A A ol AA AQ s e A,

A
A) —
>
$
(B) —-/
>
A
(©)
>
(D)
>

19. it alui Qenelle] s o vtrauAM

Hoell el B, dl Auell Gav
U 3l Mytan ol 8, 1A A4
56 yeulsel YYBEA dR ue 590 ?

(A) RUsUHSs YEUiSeL (Formative)

+(B) Rl yeatisel (Summative)

(C) Retoucus yerliset (Diagnostic)

(D) sauems yeauiset (Qualitative)
DEC-21/00
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20. What should be done to ensure optimum
growth of the slow learner ?

1.

They should be treated like others,
they will grow themself.

. They should be given challenging

task as per their level in the area of
their interest.

. They should be left at their own.

. They should get sufficient resources.

Regular activities regarding diagnosis
and remedy.

(A) 1,3and5

21.

(B) 2,4and5

(C) 2,3and 4
(D) 3,4and 5

Which of the following is a lead

agency for ‘Education for Sustainable

Development’ ?

(A) Brundtland Commission

(B) UNESCO

(C) UNDP

(D) UNICEF

Paper - |

1"

20. (Fust Qe ULACLA Yell

21.

@sid YRR seu W2 AR
U4l g 53¢ AN ?

1. Aual ol vitdeitell |Me dlQLal

AefA, Al Axell dld Qs ud,

. Al Auell el Q]

Auell sall 3ol USElRYa18
st vt ASA,

. Ana Wellell GuR B8] Tl AR,
. AHA Yaell WA Gueisd sl NG,

. Retet wa Guar Hoitll

RaRd sta udl ygRA,

(A) 1,34 5
(B) 2, 4 A 5
(C) 2,3u 4
(D) 3,4 A 5

AAMil 8¢ 2516 Qs Qe Hudedl |
Yut Awedll B

(A) WiBat2e@os s¥{latet
(B) UNESCO
(C) UNDP

(D) UNICEF
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22,

23.

The Global Education Development
Agenda reflected in the Goal 4 (SDG4)
of the 2030 Agenda for Sustainable
Development, adopted by India in 2015,
seeks to

(A) “ensure inclusive and equitable
quality education and promote
lifelong learning opportunities for
all” by 2030

“ensure inclusive and affordable
education and desired learning
opportunities for ali” by 2030

(B)

(C) “ensure accountable and quality
education and promote creative
learning opportunities for all” by

2030

(D) “ensure equity, equality, quality
and promote lifelong learning

opportunities for all” by 2030

A researcher uses systematic random
sampling from a company directory that
has 600 employees listed in alphabetical
order. If the desired samples size is
30, and the first name to be selected is
number 8, which of the following will not
be selected ?

(A) 88
(B) 368
(C) 428
(D) 558

Paper - |
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22,

23.

el gll 2015 Hi vuatlaedl waH,
Udd [Astd AR5 2030 ol e 4

(AL, 4) Wi ealdd ARs RQaw
@Qsid AReSL Ul AU Ylicd sclle]
wUd B ?

(A) 2030 ¥yellui oten 2 wHdsll ua
9JQletrll Ysel [l Al WP ctet

Raglet AU auirale

(B) 2030 ytllui et 32 HLQall
A uRdd A dat ciRDd
Rl ds

(C) 2030 ytllui ottt 2 evcuoteldl,
AJletTil el Uo%otlieHs v ee(Usloll

dsl aulralef

(D) 2030 Yelui dnlotell, ABlctell
Byt eustoll ds YRARA 524

$uofloll B2seAniell 600 s3{udl2ef
ollH HUUAR Yo NsUAA B, Bl As

Hollus ReRRs, we@s oyall urieoll
WRetyell UHE 5 . olielle] 5E 30 D UA

8 slole] ollH YuM Ude aa B, Al 1A
U4l s eiod U oAl w ?

(A) 88

(B) 368

(C) 428

(D) 558
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24.

25.

26,

The bar graph given below shows the
Foreign Exchange Reserves of a Country
(in millions US $) from 1991-92 to 1998-99.
The foreign exchange reserves in 1997-98
was how many times that in 1994-95.

Forelgn Exchange Reserve of a Country
(In mlilion US §)

e
3

1991-92 1692-93 1093-94 1994-95 1995-98 1906-97 1997-68 1998-99

(A) 0.7
(B) 1.2
(C) 1.4
(D) 1.5

Which of the following is not a barrier of
the Effective Communication ?

(A) Poor ability to listen others

(B) Lack of transparency and trust
(C) Cultural and language differences
(D) Differences in economic status

What are the major components of
effective classroom communication ?

1. Sense of Humour

2. Feedback

3. Classroom cleanliness

4. Body Language

5. Safe Environment

(A) 1,2,3,4 (B) 2,3,4,5
(C) 1,2,4,5 (D) 1,3,4,5

Paper - |
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24.

25.

26.

(A) 1,2,3,4

A WA edeuduini 1991-92 &l
1998-99 ytll talett @22l QRN elsiA
galleteusl wcal B (in millions US §)
1997-98 ui @l RQRAM eist?
1994-95 Ml ¥2cl ol &l 7

Lot ALl QM elsiz
(In mitlion US §)

43

3720 e
SUGO N 210 3100

1991-92 1992-93 1993-84 1994-95 1905-96 1906-07 1907-08 1998-99

(A) 0.7
(B) 1.2
(C) 1.4
(D) 1.5

A e Qscuidl sA @Qsed
WUBL2E YllAsl HIZ Badus ol

(A) ol diataeuell stoioll aHct
(B) wRe®ldl wa Quinell veuad
(C) dgld ua eurtall ciglete

(D) wulls RAQHML dstac

UUBLRE cAoluls YeladaAHl Hul u2sl
sl 87

1. el eldell

yQue

coluisell eyl

Al Ao (R s sLaeuat)
UM cldlarel

o > 0D

(B) 2,3,4,5

(C) 1,2,4,5 (D) 1,3,4,5
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27. A second commitment period of Kyoto
protocol that was agreed to in 2012 to
extend the agreement to 2020, known
as the

(A) Paris Agreement

(B) Doha Amendment

(C) International Solar Alliance
(D) Environment Protection Act

28. Which of the following Statement is true
in relation to Agenda 21 of the Earth
Summit in Rio de Janerio, Brazil 1992 ?
(A) It was plan of action to be taken
globally, nationally and locally in
every area in which human impacts
on the environment.
(B) It was planning for base-plan of
Millennium Development Goals.
(C) It was planning for base-plan of
Sustainable Development Goals.
(D) It was plan of action to be taken
globally, nationally, locally in
every area of gender disparity and
inequality.

29. Which of the following research need

hypothesis testing ?

(A) Historical Research

(B) Ex-post Facto Research
(C) Ethnographic Research
(D) Case Study Research
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A

27. R0 DA ol ol yQogdtell wa®
Bell 5212 2012 ui w wuA 2020 yHll
Aol & AR § sdeuu d

(A) ARY Ao
(B) €18 ANesNe2
(C) Serastelet NAR WetAURL

(D) RAociatNe Y2521t As2

28. RA ¥A, wPet 1992 ot AWR
W etotul AR5 2101 ol oAd

59 [AAeet Wy B

(A) Hietde] valaul yeua Sayd
As Bl ool sottcll sl 2 AR,
AU A @S 2D 51 82,

(B) RAlan Qs cdaaoll vutz Dol
W2 Aol wefl &cll,

(C) A 2818 ([Asict claauoll Qogetl
M2 814 541 28 &l

(D) (@at Halletell AR WAHIotclloll E28
Al AR5 ANlU WA wRs
tel? stdeudl sacutell ool &ell,

29. {12 U4l s ANuUAR Geseuot ustaleld
w3RA B

(A) AReRs Ay
(B) Wsue ¥s2l N
(C) ofciztauat Ay
(D) culsl weuty Ny
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30. Which of the following idea paved the
way for a post-positivist paradigm ?

(A) Evidence-based reality that can be
mathematically interpreted

(B) Evidence-based reality that can be
empirically verified

(C) Empirical evidence is essential for a
posteriori knowledge

(D) All observation including objective
reality is fallible

31. The price of the sugar rise by 25%, if a
family wants to keep their expenses on
sugar the same as earlier, the family

will have to decrease its consumption of

sugar by
(A) 25% (B) 20%
(C) 80% (D) 75%

32. Consider the example of Anumana given

below.
I. There is fire in mountain
Il. Because it has smoke

ll. Wherever there is a smoke, there is
fire

Which one of the following expresses

Vyapti ?

(A) Mountain and fire
(B) Mountain and smoke
(C) Fire and smoke

(D) Perceiver and smoke
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30. «AAmell sal Qu W2z WBR R2usteH
M2 Mol sl s2Al 2

(A) YRual R cieQscl 3 B ouB@As
A vduze 53 asiu ®

(B) yuaw R cize@sel 3 @
uajetctets A usifl asia

(C) Westell silel M2 UajellHE
YAl Bicus 8

(D) cirdetell aral@set #Rd dmun
@AAeg uys &

31. ulisell elel Al 25% B, oA As gu
Weltell viisuel WAl Yd wcjuR % Awall

H3 A 521 wisell aunet d2cl uatsdl ud,

(A) 25%
(C) 80%

(B) 20%
(D) 75%

32, (A WA GELERNN ‘UejHlel
w2 sl

l. ucetdi vt 8
I ¥l w04 yHusl 8
HI. Al uel Yausl B cul At B

AlA Al 53 ‘calltV’A 2y 52 B.

(A) udd ua w1

(B) udd ua yudl

(C) aUaL 3 YHusl

(D) AsQSBAR WA YIS
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33.

34.

Paper - |

Report of Kothari Commission 1964-66,
National Policy on Education 1986 and
National Education Policy 2020 proposed
which of the following share of GDP to

be invested on Education ?
(A) 4.5% of GDP
(B) 5.0% of GDP
(C) 6.0% of GDP

(D) 7.5% of GDP

Which of the following is not a function of
National Council for Vocational Education
and Training (NCVET) ?

(A) Grants the recognition to quality

awarding bodies

(B) Grants the recognition to quality

assessing agencies

(C) Regulates the functioning through
standardised norms, procedures and

continuous quality governance

(D) Assess and accredit institutions
of higher learning to work
continuously and improve the

quality of education
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33.

34.

seidl sMaie11964-66, Aseiet W@
Ulet WYl 1986 A Aot
Argydael WA 2020 A A A4
9.5l ol 32l ewdt @awi Ascaued

oleuHel 54 ® 2

(A) 9.8\ <1 4.5%
(8) @.8L.\. «it 5.0%
(C) .8l \l. st 6.0%

(D) .Sl =il 7.5%

{12 U4l % National Council for
Vocational Education and Training
(NCVET) o s13d atell ?

(A) ettt suucl QABA/ AR
HleAcll vucll

(B) dJQletrit of Heuiset 5cll drenxllal

Hlodcll tucll

(C) SlURL drsoll HisAcllYlLe HIUES),
yBa wa Jaieiad AR 54

(D) Rawel Jjgtat aual A Uddd
stlallddt 2 G @atet viudl

AR HleAdl VA 51 WUR
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35.

36.

37.

The distinction between laukika and
alaukika is made reference to which one
of the following pramanas ?

(A) Anumana (Inference)

(B) Upamana (Comparison) .
(C) Pratyaksa (Perception)
(D) Sbada (Verbal Testimony)

Find the next term of given series :
SEQUENTIAL, EQUENTIAL, EQUENTI

(A) QUENT!
(C) UENTI

(B) QUENT
(D) EQUENT

Which of the following are related to data
mapping ?

1. ltis a process of matching fields from
one databases to another.

It enables one to accurately connect
sensitive data to the identity of the
person associated with it.

This reduces the potential for errors,
helps standardize data, and makes
it easier to understand.

Data mapping is a critical element of
any data privacy framework.

2.

It is related to preparing suitable
graphs.

(A) 1,2,3,5
(B) 2,3, 4,5
(€) 1,3,4,5
D) 1,2,3,4
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35.

36.

37.

AR5 v AR5 ARA cglelel
Al Anill st YL GeAW SN
el 7

A) BaMist
B) Guniet

C) yeuat
D) o€

(
(
(
(

1D A §ANA Wictoll? 2AcEl WK
SEQUENTIAL, EQUENTIAL, EQUENTI

(A) QUENTI (B) QUENT
(C) UENTI (D) EQUENT
wHiell 53 32t Aol @ B 2

1. 3 yBa D As 321 Ana ol
A Anealel.

A ddeetallet 32t Aol wd Asoudel

Bl A WA yA2 {A sase
sl UaH celld B,

. 3l @ell donaeud uald B, yHEld
321 HEE 5 B; A YHycllg U
olelld B,

321 AL A Ay ual 32t duefladl
HiOile) @Aglas dra B.

5. Ao WAW olellelell Hi2 el B,

(A) 1,2,3,5
(B) 2,3,4,5
(C) 1,3,4,5
(D) 1,2,3,4
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38. Which of the following is not a Cardinal
Philosophy of NMEICT mission ?

(A) No talent of the country should be
allowed to go waste.

(B) Allthe services available through the
content delivery portal ‘SAKSHAT’
should be free.

(C) Freely available material on the
web should be used so as to avoid
reinventing the wheel.

(D) Rapid expansion of optical fibre cable
network for terrestrial broadband
connectivity.

39. Which of the followings are the UNDP

Sustainable Development Goals ?
a. Quality Education
b. Reduced Inequalities
c. Life beyond water

d. Industry, Innovation and
Infrastructure

e. Gender Inequalities
(A) e,dandb
(B) a,candd
(C) a,bandd

(D) c,eanda
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38. {2 ﬂél'aj NMEICT <f wauzu oot otell

(A) tatell A8 wel yRewsd wous
Yl of ALA,

(B) aud Wécni el ug AatAdl B
W otll vyt Al AR,

(C) xncuell vefaae?ta u? Guciot Musl
GualoL s, el 5dlell Usiell M
el wuflA,

(D) yeell uR dlsAAes sASAAE 22 .
WAL sE SR Foletoll BsUl YR,

39. o1 wld Qscunial s @Qseu UNDP
2516 [Asiu ceuell el W2 B 7

a. dJalariysd Rawt

O

. Wl AHLA AR
. wwellell wstRe] Waet

O

Q

. GaoL, acflotcll UA BeslRsUR
. @t uaatetal

(A) e,dua b

(B) a,cuia d

(C) a,bua d

o

(D) c,e ua a
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40. Match the List — | with List — Il and select
the correct option given below.
List - | List -l
(Air Pollutant) (Effect)
1. Chlorofluorocarbon a. Acid Rain

2. Sulphur Dioxide b. Depletion

in Ozone
Layer in the
Atmosphere

3. Lead Compound c. Topmost

| contribution to
greenhouse
effect

4. Carbon Dioxide d. Harmful
for human
nervous
system

1 2 3 4

(A) a d c b

(B) b d c a

(C) b a d c

(D) b a c d

41. Which one is not the organizational
barriers in communication ?

(A) Complexity in organizational
structure "

(B) Too rigid or loose organizational |

policy
(C) Prematured eValuation

(D) Poor organizational facilities

Paper - |
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40. @re-| A @21l A A, WA [Qsen
A

@ -1 RTERN |
(a1 ygu) (yeua)
1. sAQAsAAstolet  a. ARS 2t

2. ¥esR SlRARUYS b, dleteteul
oot 2l

wdAY

3. As HAwet C. et HOU U
Hidell 2lug
AWLELA

4. siolet slRlsugs d. Motd Actedat
(stcdriallren)

H12 elRAsiRs

1 2 3 4
(A) a d c b
B) b d c a
C) b a d c
D) b a c d

41, dtaucaqsiul sA [@seuy Ao
gAY oi2fl

(A) HNGellas ol ¥Retc

(B) viour 5812 viacu dlell ddtsetais
@/

(C) s yeiset

(D) etotell Wotsetics YRARA
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42. What are the functions of mass
communication ?

1. Surveillance
2. Correction

3. Feedback

4. Entertainment
(A) 2,3,4

(B) 1,2,3

(C) 1,3,4

(D) 1,2,4

Directions (Q. No. 43— Q. No. 47): Intemational
trade represents a significant share of Gross
Domestic Product (GDP). While international
trade has been present throughout much
of history, its economic, social and political
importance has been on the rise in recent
times.

Industrialization, advances in technology,
transportation, globalization, multi-national
corporations, and outsourcing are havin'g
a major impact on the international trade.
Increasing international trade is crucial to the
continuance of globalization. International
tradeis, in principle, not different from domestic
as the motivation and the behaviour of parties
is across a boarder or not. International trade
“is typically more costly than domestic trade”.
Another difference between domestic and
international trade is that factors of production
such as capital and labour are typically
more mobile within a country than across
countries.
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42, u@s st ulcucstzen sl yd
1. Udeledt
2 Y

3, e
4. Mell3%el
(A) 2,3,4
B) 1,2,3
(C) 1,38,4
(D) 1,2, 4

YUt (Q. No. 43—~ Q. No. 47) : vidila
AUR §A UG GAllEatoll oW R% 53 B.

slcRindla Quiz @QuA wud ugj uy sl
HIRSA MRl AR lA, wuuRla 1R
Hacdl &u 8, Aol 2uls, wuRs ua

AYARAS Heect vlyoll RadllHl ug atl
g B, ‘

- Wldalsre, 25 MA@ Yo, uRdse,
dRs2w, cigANlU Suellal, wstret 2wl
WA ol Qas-Easell s1RA victndla Aunl
AR el Aat HA B, L AR5 2eld
dctlfla Quirell aelletct u@ uswerydl
sl aorell 28 B. Raict yrud vicldluy
AUWR WEs Qudl ¥El oell; oA ollw
2olloll USSIR, cAASR, YU A HA ¥ of HAL

cAndla A Ated A u@s QuR
A qy au B. oA 55 s Auwr uA
Al QuirML 3 Geuteotoll UWRGA
B3 HSl, s WL 2ami tlA Guaot
8, R ¥ ool wst Qunt s
YR og el Su B,
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43.

44.

45.

46.

Which of the following is not a factor of
production ?

(A) Capital
(B) Land
(C) Labour
(D) Profit

Which of the following has a major impact
on international trade ?

(A) Contribution to GDP
(B) Industrialization

(C) Per capita income
(D) Domestic trade

What is the main difference between
international trade and domestic trade ?

(A) One is more significant than the
other

(B) One is more attractive than the
other

(C) One is more advanced than the
other

(D) One is more crucial than the other

According to the author, increasing
international trade

(A) Brings about speedy industrialization
(B) Uplifts technology and transportation

(C) Is crucial to continuance of
globalization

(D) Encourages multinational corporations
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45.

46.

el s [@Qseu Gadleet Axnl
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47. According to this passage what is typical

of International trade ?

(A) Easier than domestic trade

(B) Influences domestic trade

(C) Costlier than domestic trade

(D) Facilitates domestic trade

48. Match Section — | with Section — II.

Section - |

1. Interpersonal
Communication

2. Intrapersonal

Communication
3. Small group
Communication
4. Public
Communication
1 2 3
(A) a b c
(B) b a d
C) c d a
(D) ¢ b d

Paper - |

Section -1}

. Communication

with a group
sharing a
common goal

. Strategic

communication
to convey ideas

. Face-to-face

exchange of
information

. Communication

with oneself

4

d
c
b
a
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49. Which of the following statements are
related to teaching and Iearnmg more
appropriately ?

1. Learning can occur without teaching
but teaching without learning is
meaningless.

2. Learning is like receiving, while
teaching is giving.

3. Learning is an art and teaching is a
science.

4. Teaching is an individual activity
while learning is a collaborative

activity.
5. Teaching is defined as facilitation
of learning.
(A) 1,2and 5 (B) 1,3and5
(C)1,2and 4 (D) 2,4and 5

50. In order to make teaching more effective,
what will do ?

1. Learn the lesson by heart.
2. Appropriate use of teaching aid.

3. Employ illustrations for better
understanding.

4. Write everything on the blackboard
so student can learn better.

5. Try to make two way communication
in the classroom.

(A) 1,2and 4
(B) 1,3 and 4
(C) 2,4and5
(D) 2,3and 5

49, o012 U4l s QAuted v UA
AU WA ay Yol B ?

1. vtAdet W vraAlUsl o UL U ud
QL tt2let eldtRe] utaltuel iyl «ell,

2. utaUe WA &85 Anaq
wUR VAUl WA 565 AU,

3. UtAAol Ws 50 O WA VA Uel
s Qs .

4, UraAdel A N5 AR UM B,
WU veadet WA wsasdl yg@ 8.

5. vtAtUeial vtaldel WE YU
Al capvA@Rd scMl wud 8.

(A) 1,2uA 5 (B) 1,3uA 5

(C) 1,2 uA 4 (D) 2,4 4A 5

50. utalUelal Y UUWIRSE Welldal
HI R g 820 7?

1. uical WiZet @NAdgA
ol ettwal,

2. a8 Wl GR Gualol,
3. ay uMy R GelgeAl Gualol.

4, ¥Hd) Qnerdga ol Gur dwall Rl
@euell ay wdl A ool ud,

5. adluisui B-1all yeulaa sael
Yol 5280,
(A) 1,2 4
(B) 1,34 4
(C) 2,444 5
(D) 2,3ua 5

Paper - |

DEC-21/00



Paper ~ |

Space for Rough Work

24

DEC-21/00



